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[2] Which of the following statements is true and why ?
JUSTIFY YOUR ANSWER WITHOUT USING A GRAPH OR A CALCULATOR.
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[3] Find the value of a  which satisfies the following condition.
SHOW HOW YOU GOT THAT VALUE, AND WHY IT IS CORRECT.
GUESS-AND-CHECK IS NOT ACCEPTABLE.
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[4] Find functions which satisfy the following conditions. Also, find the limit in the question.
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		[1]
Sketch the graph of a function which satisfies the following conditions.
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[2]
Which of the following statements is true and why ? 


JUSTIFY YOUR ANSWER WITHOUT USING A GRAPH OR A CALCULATOR.
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[3] 
Find the value of 
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SHOW HOW YOU GOT THAT VALUE, AND WHY IT IS CORRECT.


GUESS-AND-CHECK IS NOT ACCEPTABLE.
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[4] 
Find functions which satisfy the following conditions. Also, find the limit in the question.
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